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General Answer Format:

Each Sudoku has two marked rows or M
columns. You need to submit all digits

in the corresponding directions, from
left to right or from top to bottom.

In the example, the two answer keys

are:

1A: 367594218
1B: 283749165

All puzzles will use digits 1-9 in the

submission, except puzzle 11, where
digits 0-8 will be used. m
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Version:
This is version 1 of the instruction booklet.
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Classic Sudoku
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Classic Sudoku
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Classic Sudoku
Odd/Even Sudoku
Irregular Sudoku
Outside 234 Sudoku
Quad Sums Sudoku
Quadruple Sudoku
0-8 Arrow Sudoku
XV Sudoku

N2V ONOUAWN =

TOTAL:

22
26
27
36
56
23
30
56
70
74
102
138

660




WPF SUDOKU GP WPF
ROUND7 | LHl[GRsi™ |, by acad s

2024 WorLD PuzzrLe FEDERATION

1-5 Classic Sudoku
Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box
contains each digit exactly once.

Example Solution
18] 2[4 5/9/1[876/2[4]7 3
6 9 1 36 7|5 9/4]2/1 8
8 9 8|2 4|1 7/3]|6|5 9
1 98 5 6 113 2|9 8|5|7|4 6
4 3 / 8 6/4 5|3 1/7]19|8 2
9 4126 1 9|7 8l4 2/6]5/3 1
7 4 715 9|16 31|82 4
8 4 6 28 3|7 4/9]1/6 5
6|2 813 411612 5/8]3/9 7
6 Odd/Even Sudoku

Apply classic sudoku rules. Digits in circles must be odd and digits in squares must be even.

Example Solution
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7 Irregular Sudoku
Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 9-cell
region contains each digit exactly once.

Example Solution

2 9 1 8 241597 16|38
7 3 5 8|7 912 3 4|1 5 6
3 2 615 3 1[8|7/2 9]4

9 /7 3 2 9/1]6]7/5 3]4]|8 2
3 7/ 413 8|6 9 2|5 71

5 4 8 9 5/2|7]14 1 8]3]6/9
4 8 /7194 52|68 1]3
8 6 4 118 2|3 6 5|9 4 7

3 8 9 5 3|61 84 97|25

8 Outside 234 Sudoku
Apply classic sudoku rules. Digits outside the grid must appear in the 2nd, 3rd or 4th cell of the grid
in the corresponding direction.

Example Solution
12 468 19 235 1 589 36 267 47 12 468 19 235 1 589 36 267 47
24 241712134 9|/6|5/1|8
269 78 69| 5161912111813/ 714]7¢
34 4111843751629
145 89 124512141115/ 319|867 ]|se
8 7 8319186 472|517
157 29 1576151711181 214]9]| 3|20
27 89 271411127 15]3[9|8|6 (s
679 13 79| 8171619121411/ 3|5]13
38 14 8191358 61742+
15 19 8 24 14 38 56 15 19 8 24 14 38 56
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9 Quad Sums Sudoku

Apply classic sudoku rules. A black circle implies that one digit is the sum of the remaining three
digits at that 2x2 square. Not all dots are given, i.e. there may or may not be additional 2x2 squares
where one digit is the sum of the remaining three digits.

Example Solution
[ 5] [o 1 172]3]6]9 6]7]8]4
s Tl 07l 5 974]2(7 8[3]16)
s 14 6 8 71,4 3]5]972
9 1 7 2 39|61 4]85|7
6 8 2 46/1|7/8 5|9/2]3
8 IBUE 8 7/5(3/2,9(6/41
[ [ 7 3,1]6]815 2[4]7]9
4]3 8 9%5(2[4[3 771,68
7 o 1] * 7 4|8l9]6 1|273]5

10 Quadruple Sudoku
Apply classic sudoku rules. At some intersections of two crossing grid lines, a set of digits is given.
These digits must be placed in the four adjacent cells.

Example Solution
6 323\792 89 5|41 7
8 9/7|6 1 4|5 2 3
2456 = 3467 1 52456434677 ‘ 3 2 6 8 9
L 9 2|6]3 7 118 45
7 8/1|5/4 912 3 6
5 43|26 8|7 9 1
I 4 18|95 6(3 7 2|
I . 2 7/5(1/8 3|9 6 4
| o 36/9[4 2 7|1 58
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11 0-8 Arrow Sudoku

Place a digit from 0-8 in each empty cell in the grid such that each row, column and marked 3x3 box
contains each digit exactly once.

Each digit placed in a cell with a circle must be the sum of the digits placed in the cells that the
adjoining arrow passes through. Digits may repeat on arrows.

Example Solution
4 7 1/3)4]52/6|7]8]0
2/5/8|47/0[/4/3|6
/ 5 71603 8/4[1/2]5
6 302|6 5/7(8|1/4
8A|7(043[5/6|2
8 6)4/5|2 18307
S 3 58417 62(6/4|3
0(7)6(4]|3 42|58
3 6 412(3|8 65|67

12 XV Sudoku

Apply classic sudoku rules. Adjacent cells containing digits summing to 5 are marked with a “V*
adjacent cells containing digits summing to 10 are marked with an “X“. Adjacent cells with no
marking must not contain digits summing to 5 or 10.

Example Solution
N 56 9(7 8 4[23 1
3|1 x 7:3 8|1 2 6|9 4 5
Vo2 : 4v1 2|5 9 3x7 6 8
2 19 32 6(9 4 8(1 57
x 8 9 7x3 1 5|6 2 4
v 25 9 ] 1+4 5|6 7 2;8 9 3
i 9| 8- 6 7 1:4 3/9|5 8:2
X i3 254186 73 19
v v 9 8 312 5 1y4 7 6




